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QUESTION 1

A MultiProvider has four InfoCubes as components. One InfoCube is a VirtualProvider and two of the others have
aggregates. The total execution time of the MultiProvider query is 29 sec when you expect 10 sec. What can account for
this scenario? There are 3 correct answers.

A. The shadow aggregates are being used because of the roll up job.

B. The query is running in a batch process.

C. There are non-cumulative key figures in the InfoCubes.

D. The query is configured for nonparallel processing.

E. There are insufficient background processes at execution time.

Correct Answer: CDE

QUESTION 2

How does an ODP DataSource become visible in the Operational Delta Queue (ODQ)? Select the correct answer
A. The ODQ load program is run periodically.

B. The DataSource\\'s InfoPackage or DTP is executed.

C. The DataSource is activated in the Bl Content area of the Data Warehousing Workbench.

D. When the SAP source system is connected to SAP BW.

Correct Answer: B

QUESTION 3

Which of the following are true about the process step options Repair and Repeat? There are 3 correct answers.
A. Repeat schedules the process chain for a future date.

B. Repair automatically fixes the error allowing the process chain to continue.

C. Repair uses the same step instance.

D. Certain steps can use either option.

E. Repeat begins a new step instance.

Correct Answer: CDE

QUESTION 4
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Which of the following does the data propagation layer of your SAP BW system offer? (2)
A. Ability to extract once and deploy many times

B. Fast load of mass data

C. A single version of the truth

D. Homogenized data

Correct Answer: AC

QUESTION 5

You need to transport your BW objects and your ECC DataSources. Which is the right order to do so? Select the correct
answer.

A. Transport your DataSources, Transport your BW objects, Replicate your DataSources
B. Transport your BW Objects, Replicate your DataSources, Transport your DataSources
C. Transport your DataSources, Replicate your DataSources, Transport your BW Objects.

Correct Answer: C
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